Seat No.:

Subject code: 320006

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Examination

Date: 10" July10 Time: 03:00pm-6:00pm

Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1

Q.2

Q.3

Q.3

Q.4

(@)

(b)

(@)
(b)

(b)

(@)

(b)

(@)

(b)

(@)

A residential building is to be proposed for the plot 17m x 20m
Following rooms are to be accommodated after leaving necessary
margine.

Drawing room, two Bed room, Dining, Kitchen cum store,
Pujaroom, Staircase, Bath, w/c and verandah

Draw ground floor plan with suitable scale

Draw a section showing all the details and dimensions for the
building you have drawn.

Draw Front Elevation of the building you have drawn and prepare
table for Shedule of opening
Draw the neat sketches and lable the components for following
1)King post truss
2)False ceiling arrangement with fixing plywood sheet

OR
Draw neat free hand sketches of the following and lable the parts.
1)Battened Ledged and Braced Door (Plan and Elevation)
2)Lean to roof

I) State suitable scales applicable for following drawing.

1) Layout plan ii)Door details iii) Working drawing iv)Town survey

IT) Write full forms for the following.
i\CORR i) BWK ii)MH

I)State the details to be shown in the Site plan as per IS 1256
I Give advantages and disadvantages of residential building on
slopping ground
OR
I)Give abbreviation of the following
1)Damp proof course ii)Elevation iii)Column iv) Sink
IT) Draw symbols for the following as per IS
i)Revolving door  ii)Exhaust fan  iii)Siren

State the principles of planning for Resi. Bldg.
Explain any two with sketch.

Fill in the blanks
1) Minimum width of habitable room should be m

Subject Name: Civil Engineering Drawing

07

07

07

07

07

04

03

03
04

04

03

07

07



(b)

Q.4 (a)l

)
(b)

Q.5

(b)

Q5 (a)
(b)

2)Minimum plinth height of a garage should be m
3) Minimum floor to ceiling height for an A.C.room shouldbe  m

4)Minimum area of a kitchen cum store should be m2
5)Minimum parking area for a scooter should be m2
6)Maximum riser of a stair in a public building should be m

7)No portion of a room should be assumed to be lighted if it is more
than  m away from window.
1) Prepare Line plan for a Post office building.
i1) Define F.S. and F.A.R
OR
Fill in the blank with suitable word.
1) Minimum parking area for a cycle m2
i) For School building staircase width shall not be less than
ii1) As per IS water supply pipeline on building plan is coloured by

State the minimum width, height and area by L.S. for the following
1)Kitchen 1ii) Kitchen cum dining 1iii) Bath iv) W.C.

I) Prepare a Line plan for a Bank building

II) Explain why Autocad is very useful in Architect office?

Define the following
1) Station point i) Picture plane ii1)Vanishing point
iv) Ground line  v)True height vi) One point perspective

vii) Horizon
Select proper scale and draw a two point perspective view of a tower
shown in figure. The observer, whose eyelevel is 1.5m is in front of
point A at a distance of 10m. Select the proper position of picture
plane between the tower and observer. All construction lines are to
be retained.

OR
Define the following terms:
1)Built up area ii)Carpet area iii) Building line i1v) Control line
Assume suitable position of observer, height of observer and other
essential details and draw a two point perspective view of a room
7m x 5m, using the data given below.
1) Plinth height = 0.9m i1) Wall thickness = 0.3m
i11)Window sill level =0.9m iv) window size = 1.6 m x 1.2m
v) Door(in long wall) = 1.2 x 2.1 vi) Lintel thickness = 0.15m
vii) Floor height = 3.2m viil) Slab thickness = 0.15m
ix) Parapet height = 0.9m
Note: If required, assume suitable data
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i) Wello2lell QLS = 0.9m i&clcd ol 21SL8 =0.3m
i) el3le] RA Add =0.9m iv) 6ll3of HIU=1.6mx 1.2m
v) cloll (Bauaml oliry] = 1.2 x 2.1 vi) dlectsll 2sts=0.15m
vii) $AlRe{l GLAB=3.2m viii) 2A0te{l HSL8=0.15m
ix) WRAA2 GLRAUE= 0.9m
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